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SIHHE 20164
Ol &ERE= o 20fA
A= - IS

OPN=EINE= (CH9): &Sl)
& o A = Xl & A &
&t = 2| oH HEATHH s gt = INES HECX|ESH s
= A 3,186,752 2,752,490 434,262 | &t p.| 3,186,752 2,752,490 434,262
PSpell= 0 0 0| HISXHA ALY 85,300 0 85,300
EES= 0 0 0| 8RS AFZHI 130,000 100,000 30,000
a2 0 0 0|02 0 0 0
o eeeny 86,184 4,500 81,684|0|=ZH| 0 0 0
NEr225% 0 0 0|03 0 0 0
oI 23l 2,950,641 2,663,247 287,39% | 01 x| 2 2,971,452 2,652,490 318,962
=} 0 0 0| Rt=ele|Sats 0 0 0
Ol K=&l 53,097 64,743 A11,646| D223 48 0 0 0
JIEF 96,830 20,000 76,830 | JIEHXIZ 0 0 0
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Ol &ERE= o 20fA
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@ 4 £l HE)
Aolo: Sl = &= U
SoloH
200 Mlel=¢ 156,111 89,243 66,868
210 34X 156, 111 89,243 66,868
214 A= 96,830 20,000 76,830
214-0 9,830 20,000 76,830
O===g=2 S 96,830,000& = 96,830
216 Ol At== 59,281 69,243 N9,962
216-01 SZ0S0I K= 53,097 64,743 11,646
OUlIXI= Ol Xt==& 53,097,000& = 53,097
21602 223|201 Kt 6,184 4,500 1,684
OoIZtE8X=20 gt Okt 6,184,000& = 6,184
700 B2 S2U 3,030,641 2,663,247 367,3%
710 28 = 3,030,641 2,663,247 367,394
713 X 80,000 0 80,000
713-01 80,000 0 80,000
ORIZtEX=2 3l 80,000,000& = 80,000
714 OIXI23l= 2,950,641 2,663,247 287,394
714-01 2,950,641 2,663,247 287,3%
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SIHHE 20164
Ol &ERE= o 20fA
A= - IS

® XIEHE (S &)
ZX .22 . HH . O - NRAY - BES INE- HMET XS Hlnsz2
=X2e 3,186,752 2,752,490 434,262
DIETEE SRS, 3,186,752 2,752,490 434,262
MASS MLy X 215,300 100,000 115,300
NASE KA XIR(XHED|12) 215,300 100,000 115,300
MASE KAl X 215,300 100,000 115,300
201 YEr2AY| 25,300 0 25,300
01 A2 25,300 25,300 0 25,300
ORE2REUN 1S 5,300,0002 = 5,300
ORFEAIICH D) B H2LEl 20,000,000 = 20,000
402 QIZERH20|H 60,000 0 60,000
0 DIDHHB A 60,000 60,000 0 60,000
OXIREHE 2 ARIE DS 60,000,0002! = 60,000
501 X2 130,000 100,000 30,000
0 oiIen= 130,000 130,000 100,000 30,000
osx3 130,000,0002! = 130,000
HREs (=SR2l 2,971,452 2,652,490 318,962
SBEXE(XEI3) 2,971,452 2,652,490 318,962
0IRAIZ ox| 2,971,452 2,652,490 318,962




(el &J)
ZX .22 . HH . O - NRAY - BES INE- HMET XS Hlnsz2
602 OiIXI= 2,971,452 2,652,490 318,962
01 Gix= 2,971,452 2,971,452 2,652,490 318,962
OuIxI2 2,971,452,0009! = 2,971,452
X = & A 3,186,752 2,752,490 434,262
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SIetE 20164
Oll&EXE= 0 20l
AAHFZ ¢ AEII=S
x o o
olg e &
[} = = = S TIA = A
(OIRtE ) EN(e] EN(e]! AFSIH| AFSIH| NS

2010 kX 915,401 0 0 0 28,282 79,791 807,328 0 320,000 595,401
20118 & 196,071 0 0 0 6,933 17,842 171,296 0 110,000 86,071
20128 & 178,872 0 0 0 107,817 20,470 50,585 0 0 178,872
2013 &= 852,410 0 0 0 84,916 38,677 728,817 40,000 70,000 742,410
20148 & 1,204,134 0 0 0 66,466 64,151 1,073,517 0 0 1,204,134
2015E & 293,753 0 0 0 55,235 57,225 181,293 50,000 100,000 143,753
2016 &= 236,111 0 0 0 86,184 53,097 9,830 85,300 130,000 20,811

A 3,876,752 0 0 0 435,833 331,253 | 3,109,666 175,300 730,000 2,971,452
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4. = 0O
SIS 1 20161
OIAERES - =0
sRE el _
(e &2
OIXl &
7= OIXI(E) A =] o]
20148 =USTHH ELE) 20169 =S T2 ®
Bl 2,806,889 2,950,641 2,971,452
OiXI= B 2,806,889 2,950,641 2,971,452
=8 2,806,889 2,950,641 2,971,452
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